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1. Asvstem of homogeneous inear equations X =0 has a nontrivial setotion if
A lAl==1 (B1 [Al=0 C) A=+ (In lAlI=0

2, I 2 1+2vare the ciwen values of athird order matrss A then the thard eigen value s
(A (B Y (C) 2% (I I

]

3 I frat=1a-Ia=2) satisfy Lagrange Mean Value theorenn at ¢ i the interval [1.3].

A

(B ] (C 4 i ()

4 N a=reos@, v=rsing. 2=z thenthe value ol o T

: I ; :
(A F (B) {C ¢l 6 (£

1

5. U v=vcv—c isthe general soluuon ot the Jitferent:..! cquation
Y vo—xy —v=0 (B (v -1 +x=11
() vo—xy —yv=H0 {10y =t

6.  The complementary functionof v =2+ + L e COSX IS
(A) o NSt S {B)
i lclh-'-:__IL' {Dj T '

7. It X 15 a Poisson distributed ~arnahle and P1X == _then the probabiliey distribution

functon s

£ 2 £ !_-'I" ll |
() , (B — iy — Dy —
L) (A £ LIk

oo

If the meean ad vartanee of o binomial distribution cre 4 cnd Fopespectively. ther the
probability distribution s

. E.."|-:'|'-|]|-“ (B t.-'ll-"1."lllF '
Y A ol L)

() t.‘i I i -?‘.i" ' D ¢ P AR 3 e
' T S S ' Fodd o

9. One root of the equalion f{x1=2x" =50+ 2 =0 lies in the interval

(A1 DL BY (1Y) (€1 (=10 (D) (=L
Set-[ A 2 ME
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The nethad of successive approxumaton o, =@y ) canverges i

iA) leixthe | (Br legiail=| (Cr o (ol-0 (D a2

Equtlibrium af a rigid body under o sy=tem of forces signifies the condition in which the
restltant Torce svstem iy

1AL Postlive {B)  Neautive
1Cy o Zero (D) Eather Positrve or Negative or Zero

The coetticient of frichion between a large stationary hady and a small moving body 15
maximum when the small body 1s

LA Slang (B s 1o come to hal

(Cy o about to move (D00 unclorm naoton

A ovlindrical disk of mass 8 kg and dimcies o borodime witlout shippiig on oo
stationary flat surface. The moment of e of the disk ubown ity Instantaneous center of
rotalion s

(A 4 kem? (B) 3 ko’ Wi 2kom (D Thkam

The wvelocity of a particle in rectilinear notion &~ cren by 'V = MM pateeds Tis
acceleration afler 2 seconds 15

(A S s (B) 13 ms? ({Cr 21 nys- [ A7

A gear wheel of pitch dizmeter 1 m las constanl angula aoccleratnn ol 0 radis-. The
tangential acceleration nf  point on it piteh eirele i

(A 600 radls? B 30wt T S0 s ST R ARTTEN

Two bodes of masses M = 2 kg and m = 1 kg are connected by a light mextensible string
passing over a smooth pulley. Mass m bies on smooth horizonial plane and mass M s
hangmg wn ar. 1f mass M s moning down then the acceleration of the svstem 15 12 18
gravitational acceleration)

- .

AL @ B 2a (Y 20/3 (D Ao

A hodv of mass 3 kg 15 moving at a speed ot [V mvs on 2 fictionless surfuc e, It oo lhides
with another body of mass [0 kg moving i the same direction at 3.3 nv's, Both the bodies
mive together as a single ety with same velocity after ollisien. What 1< the nnal
velocity of the system after the collision ?

(A S5 misec (B1 7 nvsec (Cr 7.8 msec (D 10 mfsec

The state of stress at a pount m an elastc body 15 o

(A Scalar

(B Vector

(Cy Tensar

Dy Any of the above depending on the shape of the body

A 3 ME
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(A Sttfness is directly proportional to flexibility,
tBy o Stitfness 1s inversely proportional to Cexibilny.
(€1 Sutfness s equal ta tlexibility

(Do Stiffness and tlexability are not relaiad.

In @ shatt under pure torsion the shear stress 15 given us 1O MPa. The principle siresses
are
(A w100 -100 By -57 50 (Cy 0. L0 (D200 200

sk the incorrect statenent from the tollowing four statements:

(A On the plane which carries maxumum poninel stress, the sear slress 1 st

(B Principle planes are mutually orthog.on.!

(C)  On the plane, which carrwes masamun <l stress the nommal stress & sero

(D1 The principle stress axes and priveiple strain aves codncibde for an isotropse material.
A cuntlever beam is subjected to a couple at s bee end. Labeline BM for Bendinge
Tonwent and SF for shear foree.

At Inany part of the beam BM s Conslani and SE i~ Zero

B)  Inany part of beam SF is Constamt ard BM - Zero

(C)  SF varies linearly and BM has parabolic varaton

(I BM varies linearly and SF hus parabo | variation

L
|

A simply supponted beam has its loncitud inat axis parallel o N-axis. It 15 subjected iw
transverse oad paralle] to Y-axis, The width of 1he beon imeasured parallef o /
double the thickne~- imeasured paralle: w Y-uvs Fhe neurel saas of the heann s parellel
Lo

(A N axls (B Y uus o 2 oaxs (D) Either X or Y axis,

LR R Rt

A solud evlindrical shalt his stiffress "K' The shatt 1s replaced by hallow shah such that
the outer diameter I, remains ~ume as that of the solid shafl and inner diameter D 1s one
fourth of the outer dinmeter (ie. D=0 25 D | Rest of the variables remains unaltered. The
saftness of the hallow shafi s 7

25K TRY S K
B == (C) 1 m

236 fl

L)
Pl

b

A plinar mechanism consists of 8 hinks. 8 turming pairs and 2 shiding pairs. The number of
degrees af freedom for the mechanism 1
b

iy 0 iBi 1 <y 2 Dy -1

In u special Grashotts [our bar mechanism the mpul and outpuat inks are equal and longer
while the coupler and f1xed links are cgual and shorter. When both the mput and vutput
links are perpendicular to the tixed hnk the velocity ratio is

(A) <0 (Bl =1 Yy =1 (D)  Infinny
A 4 ME
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rotates al N rpm with respect to the fixed fink whiie il shder reciprocates dlong the o
of the slender ink with a velocaty of V mdsee, The Coriols ceceleration of the shdine tink

1A (O (tB1 2NV ({C) = NV/i0 (Dy = NV/I3

In & mechanical system a flhywheel controls the fluctuations of torque produced by the
prime mover. Keepmmg everythme same the vwheel s replaced by another one having the
same mass as the ongina! one bt double the diameter. The cnetticiem ot fluctuation of
speed will be

(A) Reduced o 25 % (By  Increases by 1007,

(C) Remams same () Reduced 1o 5N %

The control foree for a springe loaded foverior 1 enen by o liner equetin F= o v - b
Where F s the control Foree, rs the radins of rotitson Jor the balls, ooand b ase constants,
The condition for a stable governor 1s

tA) a<0&b<0(B) a>0&b>0 4 aat&ned (In a<N&bh>0

In & single cyvlinder IC engine when the magmunde of the primar, unbuanced forcy
becones maximum and the magnitude of the secondurn unbalanced force will be

iAr Minimum (B Mo

(Cy  Euther Minimum or Maximum (v Neuher Ninimuni nor Maaoum

Mintmum number of teeth required to avied interference ona 200 tpvolute pinior
cngaging H\'Iﬂ'l d gear ‘f'.'htif_‘l of 41y aumnner o lecly st Do ot leasl
o T (Br 18 {C) 15 Dy 12

In an autemobile wath a regular type differeniiu poer the specds of the mner and uier
wheels are 60 rpm and 62 rpin respectively. The speed of the crown wheel will be

tA) 60 rpm (By Bl rpm

tCy 62 rpm (DY Can't say with the given duta

In uspring mass vibrating system while the mass pass through the mean positon
eAY Acceleration is maxinum and M oeloci v 18 Zero
(B Acceleration s Zero and Velocny is munimum
(C) Acceleration s mmmum and Velooity is Jero
(I Accelerauwon 1s Zero and Velocity is maximum

An undampad simple pendulun: vibrates in the vertical plane. when the bob s at its mean
pusition the net foree on the bob is

(A Zero By In the direction of motion

(O Opposile o the direction ol motiontD) - Upwards

A spring mass damper svstem lias M = 1 kg, C = 2 Nosed/mand K = 4 N/me What 1s the
damping ratio !

Ay (B 0.23 Cr 2 (D 03
L s ME

collegedunia:

India’s largest Student Review Platform




TN

40,

41,

42,

St -

SAOS[ALIEAL ILNANY WIRRDDEPOT 3 XTI TRl D = ] h&l_ o= S YL MO L L Dh = = CNTILL WYLLAL IS LIIC
niag nfreation factor when the excitation frequency is 2 rad'sec 7
(A) | (B Infinity )y & i,

'

Al autemobile travels on a rough read whose profile can be approximated as a harmonie
curve with amplitude of 0.1 m and wavelength 10 nv/sec. when the vehicle travels along
the road with a velocuty of Fu m/sec. ‘»lndclmg this as a support motion prablem what is
]

the excitation frequency !
tA) nradisec (B 2zradisec Wy 10 zradisec (I 20 5 rad/sec

\ slender shalt supported m shont bearmgs has a ertical speed N orpny When the short
bearings are replaced with long bearnngs the eriticel speed will be

AN (By 2N 1 0 N2

In the design of machine components 1 the factes of sateny bomercased 1 leads to the
reduction in

tA) Sire (Br Cost (C Induced Stress By Al the shove,

A component made of brittle nyterial ~ubjecied to pure shear fuls

(A by yielding whenz | =3w (Bs by trocture when o = Sy
(C) by fracture when T = S (I by vichime when Lo = D2
The relationship between notch sensitivily tector (). thoorciical ~tress concentration
factor (K 1 and fatigue (or) form stress concentratnn ok s cnen by
k. k-1 k -1 k +1

: =% BT 5.3 { 34 R g m 9=
(<) K & k-1 © K-t M
For the combination of r.dic! load and thrust Inad the best ocaiiy aeng e tollowing is
A1 Needle bearing tBr Sphernical roller bearing
(C)  Cvhindrical roller bearing (D) Journal bearing

Etfect of tncreusing stiffness of ~prings i a centrifueal ¢luteh leads w
cA)L Inerease tspeed of engagement

By Inerease in triction torque al masisim speed

(Cy Decrease the effort for disengage ment

(Dy - All the above

A brake s said (o be sell-eneraizine when

tA) External foree s not necessuary to operate the brake

(B) Huge external force 1s required to disengage the brake

(C) The breaking force and the friction force induce monwent n the sang direction
1D The breaking foree and the friction foree induce moment it opposing directions

A double fillet welded joint with parlle] tillet weld ot lenath L and leg a3 subjpected w o
tensile force Pu Assumang unitorm stress disinbution, the shear stress in the weld 1s
iy (42 Pyal. iB) Pry3al. (Cr Pfal. (D 2Pfal.

A fr ME
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(A1 Cohesion (B)  Suvrfuce tension
(C) Adhesion (D Viscosity

47, A flued mnequihbrivng can't sustain

i Shear strgsses (B Tensile stresses
() Compressive stresses (D Bending stresses

48, Cheose the wrong statemicn|
(AL Viscosaty of the fluid is that property which determunes the amount of its resistance
1o i shearing force,
(B) Viscosity of liguads decreases with Increase i lemipenatuse,
(C) Viscosity is due pnmarnily to mteract:on hotaweer el owlecules
D Viscosity of the liquad is appreciably affvcted by Clange npressune,

49, When 4 body floating in a hquid. 15 displaced shighty then it oscillates chowd

(A Center of pressure (B Center of huoyarey
() Meta center (10 Groesgtatnmal center

50.  In a tree vortex motion, the radial component of velociy cveryw here 1~
(AL Zero (Br  Maxunum (o Minumuem Ty Non-zetoand tinite

51, The velocity profile for turbulent flow throuah o closed condua i
iA)  Linear (B1  Parabolic () Hywperbolic D Logarthmic

32, Boundary layer sepawation is caused by tie
() Adverse pressure troadient.
(B)  Reductiom of pressure gradient Lo zero.
() Boundary layer thicknu s reducing to zero.
(I3 Reduction of pressure to vipour pressure.

I
L)

The temperature in sentropic flow

eAL Depends von Much number only.

(B Mav or mav oot depends on Mach number
(€ Does not depend on Mach number,

(Dhy Can't say

5. Which of the tollowimng s not & dimenswon-loss parameter ?
(A) Euler nunther (B1  Fanning inction factar
() Spuariie gravily (D) None of the above

Tr
I

oA prece of metal of specitic aravity 7 tloats o mercury of specific gravity 15060 What
fracton of 1 will under mercury ”
(A About (hd (B About 06 (C) Abhom 0.5 (D) About 0.65

Set-| A 7 ME
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(A Volume of gus 1 zera (B)  Kmewe eneray of mnlecules 1- zero
() Specific heat of gas 18 zero (D Mlass s rero

Which of the tallowing 1s correct ?

(A1 Onlv guses lave two values of specitic heat.

By Both mases and hquids he 2 two values of specific beat.

(C) Spevifwe heat valve is constunl rrespective of state of substance.
(1 Only liquids bave 1w o values of specitic hea

A heat exchange process in which product of pressure and volume remains constant 1s

EIVVTE 24

(A1) Admabatic process (B [hrittling pragess

(C) Iseniropic process (D Huperbaobo process

The absolute temperature ot an deal distoonie gos o guadrupled. What happens to the
average speed of molecules !

(AL Quadruples (B Doubks

(Cy Tnples (1) Increcses by a factorot 1,41

A 1 kg block of ice a1 0 °C is placed into « perfectly inaulated. sealed container that his

I ko of water also at ) °C. The waler .iid ice cumpletely 1l the Lon

contaner is flexible. After some time one ¢ oveept thal
tA) The water will freeze so that the mass o1 the oo will inoreasa,
tB)  The e will melt so that the mas- of the wce will decrease.

(C)  Buoth the amwour! of water and the amount ot we will renuim constanl

(13 Both the amwunt of water and the amount o wv will docrease

Which of the following 1s coneet ?

tA)r Both Stirling and Encson evele are reversible.

(By  Both Stirhing and Erwson ¢y cle are mreversibie.

(C)  Neither Surling and Ericsin cycle are reversible

(1) Stirling cvele 1s reversible ind Lricson cycle 1s ireversible,

Read the tollowing Statements:

wer. but the

1 Ote owle etfiwieney 15 hagher thun Diesel eyele efficioney o the same
compresswon ratio and heal mput because m Odo cycle combustinn is db constant

volunw

o Otte owle etfweney 1 losher than Diesel cyele efficiency for the sanwe
compression ratio and heat mput because in (o oycle maximum temperiiure 1s

hicher,

o Do owle etficiency s logher than Diesel cwle efficieney tor the samwe
compression ratio and heat input because in Oto evele heat rejection is lower

(A Onlv 1) is correct (B Both 1y and () are correct
() Only i) 1s correet (D) Both (1) and 11} are correct.
A B

ME
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(1 Thermal conductivity of air with rise I temperalure icrease s,

(i Thermal conductivity of  nen-mictallic amorchous  solids with decrease  in
femperalure devreases.

it Thermal conductivity of solid metals with rise i temperature nornully increases.

tA)  AliL e and o) are cored (B)  Only 1y and (i) are correct

() Onlv it and (1) are corre.t (D3 Only a1 and (i are corredt

The concept of overall heai transfer coetficient 1s used in heat transfer problem of
) Conduction and convection tBy Conduction and rudiation

(A
(T Comvection and radiation (DY Conducuen, wopvection 1ad 1adistien

Which of the following statemwent 15 correct portanmng boothermad diffuaz o
(A) It is a function of temperature

(B Iris mversely proportional 1o thermil Lo
() Ivis property of materiul

(D) Itis a dimensionless parameter

Ll [on il i\.

In free convection heal transfer transiion trom Lo o wrhulent tlos s aonerped by
the critical value of the

(41 Prandt! nsumber, Grashoft's number

(B) Revnold's number. Grastodf's nuimbe:

(C) Revnold's number. Prandtl number

(D Revnold™s muniber

The by-pass factor for o cooting coll

tA) Mav increase or decrcase with ieresse in velecity ol air passing through st
Jdepending spon the condition of air entering.

(Bi  Deereases with increase in velocity of air passing through it

(C)  Increases with increase in velocity ol 2w passing through

(1) Renwuns unchanged with increase wm velocny of air passing through o.

Which of the tollowmng stalement is correct !

(A)  The mimimum temperature o which water can be cooled 1 2 covling tower is wet
bt b semperature

By The mmimum temperature o which witer can be cooled in a cooling tower 1 dew
point teimperature of alr,

(C) The numnmum lemperature o which water can be covled ina cooling tower 13
ambient tenmperature of ulr.

(120 The munimum temperature w which water can be cooled in a cooling tower is dry
bulh semperature of air,

A 9 ME
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The ratie of Prandtl number and the product of Nusselt puimber und Revnold s
number,
The ratw of Prandtl number end the preduct of Nusselt number and Raloigh s
b,
The rai of Reynold's puiher apd the product ofNussell number and Prandtl
numher,
The rato of Nuvsselt nuntber znd the product of Revnold's number and Prandtl
number,

The radial heat transier rate through hollow cylinder increases gs the ralo of outer radins
to nner radius

b
I

iC)

Decreases (B IDncreases
Constant (D Moy increase or decrease

Which of the followmng statenwnlts 1s <orre

ey
(15
|E"]

(I

High value of Prandtl number indicate~ Rapud heat ranster by torced convection te
natural convection,

High value of Prandtl number icdicates Rapul ditusion of monzentim by viscous
action comipared to Jdiffusion of <aerys

High value of Prandi! number md:cotes relianve heat iranster by comduciion
convection.

High wvalue of Prandtl number indicites reletive hewt tramstor by oradision o
convection,

Which of the following is not true pertainme to lows stione miternal corbustion engine

(A

LB]
i

1D

Because of one power stroke i two reveluticns, lesser cooling arnd luhrication
Tﬂt][]l]'ﬂ]ﬂ[‘tﬂ. Uills lesser rate (]f Wooar amd Leur HTELAN Lis 130 S1T ke o b 1 cRos
High initial cost compared 1o two stroke <y cnding

Volumetric efficieney lasser compared o two stroke cyele cigine, due to less time
avatlable tor induction,

Pun load efficiency i< better than two stroke evele encine.

Mechanicul elficiency of the intvinal combustion engine s delined as

A
(13
()
(Ih

Ratio af indicated work to the enorgy supplied by the fuel

Ratio o shaft wark obtained to the ereroy supplied by the fuel,

Ratw ot power ohtiured at the shaft to the indicated prwer,

Ratwo of power obtamed at the shaft to the actual volume inhiled duning suction
strohe.

Reud the following Statements.

(11

(10
1N

4
i

A

Regenerative vvele thermi efficiency is always greater than simple Rankine eycle.
The musimum percentage quin i Regenerative feed  heating ovele thermal
eticrency. mereases with more number of teed heaters.

In 4 regenerative teed heaing oveleo the opumum value of fracnion of steam
extravted for teed heating decreases with mcrease i Rankme cvele etficiensy,

Orlv o and (1) are correct (BY  Omlv (1) and (11 are comect

All above statements are correct (D) Only iy and aan are correct,

10 ME
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cAY Inereases with increase in adiabatic index
tB) Decrewses with increuse in pressure ritio
(C) Decreases with increase In compression ratic
(D) None ol the above

The overall efficiency of a rea tion wurbine is the ratin of

(A Work done an the wheel 1o the energy (or head of water) actually supphied to the
urbine

(B Actual work availabic wi the turbine to the epergy imparted to the wheel

(C) Power produced by the wrbine to the enerav imparted o the whee

(D) Power produced lw the twrbine to the eneray wotoelly sopplied by the turbine

Anv change in foad is adjusted by the adjustinge the wollows e paremeter onturhie

(A1 Blade velocity (B T Elow

() Net head (I Relutive welocity it the inlet

The specific speed of a turbine s the specd of an mecmary turbine, wivencal with the

aven turbine, which

(A1 Develops unit power under unit head
By Delivers umit discharge under unit he.d
(€ Delivers unit discharge under unit speed
(D) Develops unit power “under unit spee.

Choose the wrong statement

cAr Energy is said to be degradec each time it fows through a finite temperature
Jifference

(B)  To increase work capaciy of energy uan-lv s Irony Ligh
iemperature 1o low telperature. L"n'lpculur l t'rklenu shwuld b muum*d

() The actual work which @ system does 1s alwavs less than the reversihle work.

113 None ol the above.

M i ¢
152 RS

Freezing temperature of water Jocreases with
(A1 None of the tollowing (B, Increnses or decreases with pressure
(C) Decrease i pressure {13y Incrense in pressure

Alloy steel which s work hardenable and whic i 1s used to muke the hludes of bulldorers,
buchet wheel excavators und other earth moving equipient ¢ontan iron. carbon nd
(A Chromium (B Silleon <) "-.Linj__rmem (D) Magnesium

During tenstle tesung of & specimen usmng universal testing machme. the parameters
actually measured mnclude

() Troe stress and true siram

(3 Possson’s rano and Young's modulus

() Engineenng stress and engineering stram

(D) Load and eloncation

A i ME
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soaking at the temperature and then cophnz slow!y w room temperatiuze to torm a pear i
and Jerrile structure, is known s

(At Hardenmg (B Nomalizmz (€C) Tenpennz (D) Annealing

In case of power screws. wit 15 e combmnation of matenuls used for the screw and nut
tA) Cast jron screw and mild stee] ot

By Carban steel serew and phesphor branze nut

1C) Castron serew and cast ron nul

(D Alunuinunt serew and atloy steel nut

Vibration damping m machinery 1s best achicved by nweans of base stucture made of
wlich vne of the following material

(A1 Low carbon steel (B Nonlular won

(C) Grey cast won (130 Wlille wast gon

Ciray cast mon blocks 200 = 100 = 10 mn: are o he cast o sad moukds, Shrinkage
allowance for pattern making is | % The raun of the volume of pattere to thar of the
casting will be

iA) 0497 (B) .44 (Cr 1.01 (B 103

Bottom gating system 1s some times preferrcd in casting becawsy
tA) It enables rapid filling of nwuld cavity

(B) It is easier 1o provide in the mou

() Tt provides cleaner metal

1Dy Tireduces splashine and (urbulence

Misrun is o casting defect which occurs due to

(A Aovery high pouriig terperature of the metal
(B Insutticient fhudity of the molten metal

(C)  Absarption of gases by the Liguid metal

(I Improper alignment of the mould flasks

Which of the tallowmng are produced by slush casting ?

tA)r Hollow castings with thick walls By Hollow castings wath thin wzlls
() Thin castings (D) Thick costings

Which one of the tollowing processes consists of central sprue to iced metal into cavities
thraugh a number of radial gates

(A Centnfugimg tBy Semi-centnfugal casting

(C)  True cemntugal castng (13 Precision casting

In ralling & strip between two rolls, the position of the neutral poimt in arg of contact dees
not depends on

(A Anmcum of reduction (B Dimeter of rolls
(") Coetlicienl of rolls (DY Marenals of rolls
A 12 ME
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any barreling eftect. the final diameter of dise 1s 450 wun the true strn s
(A 1YSH (B1 1.H8H (Cr 1386 (N, 06N

The eperation in which o1l s pernieated o the pores of powder metallurgy product 13
RO A5

(A (1497 iB1 Ouy (Cy 1.01 (P 1 ns

Which ore nt the followine manufacturing processes requires the provision of gutters
tA)  closed diwe forging 1B centrifugal casting
(C) anvestient casting (D) Impact extruson

The collupsible tooth paste tubes wre manulfactured I
Ay direct extrusion {(B+  proromg

() Impact extrusion (I et extousion

In which one of the following wekling rechnuques 1+ veouum et ronmient 15 required |

(A Ultrasonic welding (Heo Laser heam welding

(C) FPlasma arc welding (1) Eleviron beam welding
High alloy steel components are prebeated hefore wellins for reducing
(A heat affected zone (B totel creroy corsumption
(C) total time of welding {1 welding stresses

Which one among the following welding processes tses non-consunmuabhle clectiode !
cAr Gas metal arc welding tB)  Submerced arc welding
1C) Gus tungsten are welding (D Flus cootad are welding

The type of coated electrode most widely used for welding iow carbon steels
(A Cellulose (B) Aoddic (O Runle (D Oxide

The strength al 4 brazed jout

(A} decreases with increase i sap between the joming surtaces

(B increases with increase i 2ap between the two joining surtaces.

(€ decreases up to certain gap betwoen il joinine surfaces beyond which 1t mcreases
(D) increases up to certun gap between the joinng swicees hevond whicl it decreases

[n onthosenal cutting. the feed v 03 mm at a cuting speed of 2 wfsec. 1 the chip
thickness s 0073 i the chip velociiy 1s: {consider the rake angke as zero)
(A LAmfsec (B 2 misec (Cr 2.5 mfsec (D) 3mfsec

The percentage of total energy dissipated due to frivtion at the tool chup mterface 15
(A M (B 42 (" SN (i 70

The indexing of the turret 1n a single spindle lathe 15 done using

(A Geneva mechanism (B Ratchet and Paw! mechanism
() Rack and pinfon mechanism (DY Whit worth nwechanism
A 13 ME
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ovieinal The Tavior's ol ife index 1
(%) 43 (B 1/3 ("0 Ly D, 1.7

15, 3-2-1 method of lecation w jig or fixture would collectively restrict the work piece mn 'n’
degree of freedone where the value of 'n s
Y 6 (B 8§ () 9 (D 12

106, In an engineering drav ing one finds the designation of 206718 the posiiion of tolerance
of the hoke 15 indicated by
(A Letter G (B) Letter [ (Cr Number 7 (D Nunmber §

107, Tor angle measurement n metrology, the followine pir can be used m conunction with
each other
tA)  sine bar and Vernier calipers (B:  bervelprotractor and ship cage
(C) slip gauge and sme bar (120 sine har and besdd protracier

108, A small bore 15 designated 25H7 The lower (manunn and upper (nnesimam) hmits of
the bore are 25.00 mm and 23 011 respeciively, Wien the bore s Jdevianaed as I5Hs,
then the upper limat is 23,033 mm. When the bore 1< devanated as 25116 then the upper
lumat of the bore in num is
tA) 25001 (B)  25.005 (1 25600 (D 25073

109, The geometric tolerance that does not need o Jatum Lo s specitication 1
(A1 Concentricity (B Hunou
1€y Perpendicularity (00 Flatness

110, In 2 ONC feed drive. o ~icpper motor with step ancle af | A degrees droves o el serew
with pitch of 2 mmi The basic length vt for this drive o
tA) 0 microns (B 20 microns  (C) 4D mwavils Py 100 i rois

111, Machiming of complex shapes on CNC machines requires
tAr Smultaneous control of X, v, 7 axes
(B Simultaneous control of x4 axes
tC) Independent control of X, v, 2 axes
(13 Independent control of x, v axes

112, For gencrating o coons surfuce we requbie
(A) aserof grud points on the surface
(130 aserof grid control points
() four bounding curves dehning surface
(D two bounding curves and a set of grud control points

113, Cellular nuinutacturing is suitable for
(A asingle production m large volunwes
(31 one-off production of several varieties
(Cy production with sinilar features made in baiches
Dy laree varlety ot products in large volumes

Set-| A | 14 ME
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(A remains unehaneed (B increased by factor of 2

(Cy o 1s doubled (D) 18 halved

A company has an annual Jemund of 1000 wmts. ordering cost of T 100 order. and
carrying cost of T 100 unit-year It the stock oot costs are estimated w be pearly T 400
cach nime the compary runs oul-of-stock. the safety stock justified by the carrving cost

will be

(A A (B ZU (o (100
Vehiele manufacturme assembly hioe 15 an example o

() Product layout (Br Frowess Lol

(€ Manual lavout (D Beved Lvoun

Production flow analysis (PEA) 5 a methed of wleantbvine pot families that vees date
from

(A1) Engineering drawings (B Pronduc i schedule
1Cy Bill of materials (1D Roule sheets

A component can be produced by any of the four processes, L IL T and TV Praowess Thas
fixed cost of € 20 and variable cost of € 3 poc piece Process [T has fxed cost of & 30 arsd
variable cost of Rs. 1 per piece. Process 1T 1< fixed cost of T 20 and vonuble cotof 2 2
per prece. Process [V has fixed cost of 210 aid wariable cost ot T4 por piece THoompany
wishes to produce 100 pieces of the component, o cconomze pemnt of view i should
Choose

(A1 Provess | ‘B Process 11 (Ch Prowess [ D Priccews IS

A dummy aetivity 1s used i PERT npetwork to describe
tA)L Precedence relationship (By  Necessany timwe delay
tCi Resource restriction (DY Resource dleness

The project activities, precedence relationships and Jdurations are described in the iable.
The entical path of the project is

Activity | Precedenee | Duration (in duy)
P - A
0 ' ) 1T T
R P 5 ]
S (8] 3
[ B. & 7
[ .S 3 .
v [ T 3 |
W U 1) ’

(A) PRT.V (Bl OSTN¥ ) PRUW D OSLU.W

S
—
“Fy

ML
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